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Worksheet -11 Subject: - Mathematics Class: - VI Teacher: - Ms. Neeru
Name: Class & Sec: Roll No. Date: 08.05.2020

Ch 2: Fractions and Decimals

What is a Fraction?

A number that expresses equal parts
of a whole object or set of objects.

X part
31 % ‘41 ¢ ! whole

Parts of a fraction:

| numerotor
— How many froction
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Different wdys to Repnsent a Fraction

Part of @ Number Fraction Fraction
Group Line Bar Circle
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+ ﬁ Types of Fractions

Proper Fractions

Numerator is
smaller than
the denominator
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Improper Fractions

Numerator is
equal or greater than
the denominator

Mixed Fractions

Consists of a
whole number
and a proper
fraction
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.{ Equivalent Fractiong \b.‘
@

Equivalent Fractions have the same value, even | -
though they may lock different. They are fractions ' | :,‘

w

e

q that name the same amount or part. l ‘
3 e 3 &
|For example: —.— , =, — are all equivalent fractions!
" i RN | &

Example 1

w

Write five equivalent fractions of

0l

Equivalent fractions will be

3 5 S
—-x—:——
5 2 10
W
5 9 £85
3 4 12
—x—:—
5 4 20
3 5 15
—x—:—
5 & 25
3. 45 18
5 6 30

6 9 12 15 18
10’ 15’ 20’ 257 30

-~ 5 equivalent fractions are




Page |4

4 5
Compare = and =

{ Example 2 J

Since, they do not have same denominators

We try to make denominator same

Common denominator

=LCMof58&6 % B
s 3

= ERINI s |5 1
= 1, 1
So,

4_ 4x6 _24

5 5x6 30

5 5x5 _25

6 6X%X5 30
, 25 24
SInce, ==

30 30



Add%to-:l;

2 1
.—.+—
5 3

_2X3+1X5

5 %3
_6+5
~ 15
11
"~ 15
; 4 3 2
Slfﬂphfy;—z
3 7
5 20

3%X20—7X5
- 5 % 20

60 — 35

{ Example 3

Example 4

LV
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Add 2Zand 32 Example 5
V
4
< Gl 3 o
5
4 4 2x5+4 10+4 14
2—: 2+- = o= = e—
5 5 5 5 5
5 . 5 3x6+5 _18+5 23
36' - B 6 6
Thus,
. 2 1
£ 6 X & s o
_14%X6+ 23X5 8 4 115
- 5 X6
IEACROUU.COM
_84+rm 113
T30 + 84
199
_199
"~ 30

6—= Number

19
=630 /305199(

180

Denominator 19 — Numerator
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Simplify: 8 -}; -2 - { Examp|e 6

1 1 8xX4+1 32+1 33
8— =8+—= = = —
4 4 4 4
5 5 2X6+5 1245 17
2= =20+4+—= = = —
6 - " 6 "
Thus,
81 5 33 17 1 .
4 6 4 6 33 17
33X 6— 17 X 4 x 6 x4
- 4%6 198 68
198 —68
T 24
+2 teackoo.com
130 65
" 24 T2 T 12

5—e Number
85 165 C.
12 /// 60
5 Denominator 5— Numerator



Page |8

Chabter 2 Fractions and Decimals
Exercise 2.1

Ex 2.1 Class 7/ Maths Question 1.
Solve:

. 3
h2-= - an4+%
- 32 9 4
—+_ .
o s*7 TR
7 92 8 9 1
TR AR iy T
(v) AL (vi) 3 +35
1 5
) 8= -3—
(vir) 3 :
Solution:
i2-3_2_8_2x5-3x1
> 1 5 1x5
e cul Y 5] 7(1
5 5 5
3 9 :é
Hence,2—g= — 3
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Exercise 2.1
. Solve:
: B o anl . 3.3 9 4
W 273 W e @ 373 ™ N 15
7 2 3 3 1 .5
—+—+= ) 2—+3— i) 8—-3-
W s 3 W 235 W) ©377%
. Arrange the following in descending order:
2238 . 1.3 T
W 937 @ 377

. Ina“magic square”, the sum of the numbers in each row, in each column and along
the diagonal is the same. Is this a magic square?

S (Rl 57
11| 11 11
il e | (Alongthefustrowi+—g+£=!-§).
111 11 11 ik Ik B H
L C B |
1] 11 11
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(i,)4+z_i+z_4x8+1x7
AT 8 1787 1x8 8] 39 4
_ 3247 39 7 =32
-8 ~ 8 '8 T
7 7
4+— =4-—
Hence, 3 3
.3 2 3IxT+2x86 21+10 31
(lu)—+—= = =
5 17 5x7 35 35
3 2 31
Hence,g+7--3—5-
oy 24 _9x15-4x11 135-44 91
1157 11x15 165 165
9 4 91
Hence,l—l-—ﬁ=-1—65
7 2 3 T+4+15
(V) —+=+= = ————
10 5 2 10
(LCM of 10, 5 and 2 = 10]
_26_26+2 13 _,3
10 10+2 5 5[5/ 13 (2
.7 2 3 .3 10
s e e =19
Hence, 15+572 =45 3
2 1 8 7 8x2+3x7
595 - s
W) sgtig =3ts 3% 2
_16+21 37 1 6) g;(s
6 6 6 et
1
2 1 .1 i

Hence, 2§+3§ = 65



5 17 29

LA .. =
(vii) 2 3 2 3 [LCM of 2 and 8 = 8]
_ 17x4-29x1
- 8 8) 394
68-29 39 7 32
= = =4— 7
8 8 8 i
1 5 7
B=-8= n d-
Hence, 2 3 3

Ex 2.1 Class 7 Maths Question 2.
Arrange the following in descending
order:

(05521 (#0571

Solution:

228

9'3'21

LCMof9,3and21=3x3x7=63

Making the denominator same, we have
2 7 14 2 21 42

(1)

9°7°63°3 21" 63
and 2-x 3 o 24 3 |9,321

21 3 63 3(31,7
Since 42 > 24 > 14 T 11,17

42 24 14 1,1,1
Thus =5 > 53 > 63
Henceg>£>-2-

3 21 9
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S
5 710 9

5,7, 10
LCM of 5, 7 and 10 515175
=2xbx7 7 i'z’i‘
=70 A
Making the denominator same, we have
1 14 14
gxﬁ"% [+ 70 + 5 = 14]
3 10 30
710 = 70 [ 70 + 7 = 10}
7 7 49
i—6x7=;}'—6 [+ 70+ 10=1T]
Since 49 > 30 > 14
49 30 14
Th“S%);‘(s)%
7 3 1
Hence, — > = > —

10 7 5
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Ex 2.1 Class 7 Maths Question 3.

In a "magic square” the sum of
number in each row, in each column
and along the diagonals is the

same. Is this a magic square?

4192
11 | 11 | 11
R I
11 | 11 | 11
81116
11 [ 11 | 11
Solution:

4 9 2 15
+ + -
11 11 11 11
3 &6 7 15
+ + =
11 11 11 11
8 1 6 15
+ + =
H 11 11 11
4 3 8 15
; -+ =
11 11 11 11
9 65 1 15
+ g o
11 11 11 11
2 7 6 15
+ . =
11 11 11 11

Along first row,

Along second row,

Along third row,

Along first column,

Along second column,

Along third column,




4 9 2 15
Along first row, = —

11 11 11 11
3 6§ 7 15
+ = —
Along second row, TRET + Tkt
; 8 1 6 15
Along third row, 11 11 1" 11
4 3 8 15
s o wm— e e | G w—
Along first column, TRETRETERET!
9 5 & 1 15
11 11 11 11
2 7 6 15
+—+
11 11 11 11
4 5 6 15
+—+
11 11 11 11

2 5 8 15

Along second column, —

Along third column,

Along first diagonal,

Along second diagonal,

Since, the sum of all the fraction
row wise, column wise and the

diagonal wise is same i.e. 1.

+ + = ——
11 11 11 11
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